y 1 E 5 3 | Write the decimal.
If = =4x (%) Uri shared & of AQx 7 =
5 5 : s 4
his orange with his M
then friend and ate the P —
F y rest. How much of
3 = the orange did Uri
eat?
Start at 4. Create | Write <, > orr= to Round 71788,206,”7 7 5
a pattern that make the statement | | to the nearest -7 =
o 12 12
multiplies each true. thousand.
number by Y. Stop
when you have 1 O 23
5 numbers. 2 3
Y Write <, >, or = to
Shelby needs gof | 1 L1 make the statement| 4 7~
a cup of oatmeal |10 = 700 frue. 10 * 100 ~ 100
for each batch
of cogkies she 076 O 0.67
is baking. If she
wants to bake 7
batches of cookies,
how much oatmeal
will she need?
Kevin has Write the equation.
3 Y 2
244 marshmallows. | Decompose 0N 8§ ~bg =

He drops 16. If

9 people share
the remaining
marshmallows, how
many will each
person get?

two ways.
3
AN 01010
3
B0t 10°10

Colby has 8 gems.
Evan has 3 times
as many gems as
Colby. How many
gems does Evan
have?
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Week #28 : ni

Name
1. Write <, >, or = to make the statement 2. 5 1
frue. ECE
2134
12 2
3. Write <, >, or = to make the statement - Y
true. Decompose 7 in two ways.
0.89 O 0.98
Tl
AT TS T
Y
“ 76 "6 T
5, 7 6. 5 1
Wallace needs 15 of a cup of pecans to 3g-2g-=
make one pecan pie. If Wallace wants to
make 4 pecan pies, how many cups of
pecans will he need?
P 1 8. m
8% = Nicole washed 1 of a bag of potatoes.
She left the rest in a basket outside.
What amount of potatoes did Nicole
leave outside?
9, 10. Write the decimal.
Y 1 3%
If==Ux (%), then—| = x MR
z =4 (g) (=3 o

08 4.NF.2, 4.NF.3, U.NF.4, 4.NF.6, 4.NF.7
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